Key to Exam II; F4360; Spring, 2000; page 1 of 4
Use the information contained in the following footnotes and financial statements to answer the next 2 questions.

Short answer questions/problems

Use the following information to answer questions 1 through 3.

Suppose that on Thursday, February 17th, you purchase 8 puts on Cisco Systems Inc. with an exercise price of $130 which expires in April.  Assume that your purchase was the last trade of the day.  Assume also that you hold the options until expiration and at that time, the price of Cisco stock has fallen by $5 per share from its close on February 17th.  

1.  How much did it cost you to purchase the 8 puts? 8000 = 10 
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2.  What is your net cash flow at the expiration of the puts? +3600 = (130-125.5) 
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3.  What is your overall profit or loss from purchasing the puts? –4400 = 3600 - 8000

4.   Amazon.com has recently decided to sell new and used cars (in addition to books) on its site.  If the market perceives this move as increasing the overall standard deviation of returns on Amazon’s stock, how will this decision affect the value of calls on Amazon stock?  Increase

5.  Assume that you purchase 100 shares of Dell Computer Corp and also purchase a put on Dell which expires in May and has an exercise price of $40.  Sketch a graph of the total/combined payoff from these two transactions at the expiration of the put.  Note your vertical axis should be the total payoff and your horizontal axis should be the stock price at the expiration of the put.
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Using the following information, sketch your answers to questions 6 through 10 on the same graph.  Label each (6, 7, etc) on your graph.

You are thinking of investing in some combination of the following firms:


Standard Deviation

Firm
Expected Return
of Returns
Compaq Computer
19%
32%

American Airlines
16%
28%

Merck Inc.
14%
19%

6.  Sketch and label the 3 stocks on a graph.

7.  Sketch a graph of the possible combinations of risk and return that you could achieve by combining these three stocks into a portfolio.

8.  Assuming you are risk averse, eliminate any portfolios you would not consider investing in and highlight on your graph those portfolios that remain.

9.  The return on T-bills is 4.95%.  Assume that you can borrow or lend any amount of money at this rate.  Identify on your graph your optimal portfolio of Compaq, American Airlines, and Merck.

10.  Assume you invest 75% of your wealth in T-bills and the remaining 25% in your optimal portfolio of Compaq, American Airlines, and Merck.  Label this point on your graph.
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Problems/Essays

1.   Suppose you are considering purchasing a call on Lucent Technology Inc. which expires on March 17th (21 days from today) and which has a strike price of $55 per share. Assume you wanted to value the call using the Black-Scholes Option Pricing Model.  Use the following information to answer parts “a” through “e” below.

a.  What would you use for S0? 53.5

b.  What would you use for E? 55

c.  What would you use for rf? .0521

d.  What would you use for 2? .1369 = (.37)2
e.  What would you use for t? .05753 = 21/365

Stock price information on Lucent:  High price in the past 52 weeks:  
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; Low price in past 52 weeks: 
[image: image8.wmf]4

1

48

; Current stock price: 
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 ; Forecasted price for Lucent by of March 17th (forecast by an analyst at Merrill Dow Securities):  $65.

Standard deviation of returns information on Lucent:  Lucent’s assets: 29%, Lucent’s stock:  37%, call on Lucent:  110%, put on Lucent:  98%.

Rates (APR with continuos compounding) on T-Bills:

Maturity
Rate
March 2
5.24%

March 9
5.23%

March 16
5.21%

March 23
5.38%

March 20
5.39%

April 6
5.41%
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2.  Use the following information to answer parts “a” through “f ” below.


Return on:

Economic Conditions
Probability
Enron
S&P500
High growth
40%
35%
29%

Slow growth
45%
18%
15%

Recession
15%
-14%
-8%

The return on Treasury bills is 5.24%.  

Enron is expected to make its next quarterly dividend payment of $0.125 per share one month from today and is expected to increase its dividends by 4.3% per quarter forever.  

a.  What is the expected return on Enron?

b.  What is the expected return on the S&P500?

c.  What is the standard deviation of returns on the market?

d.  What is Enron’s beta?

e.  What is the required return on Enron?

f.  What is the most you would pay today for Enron’s stock?

a.  E(rE) = .4(35) + .45(18) + .15(-14) = 20

b.  E(rS&P) = .4(29) + .45(15) + .15(-8) = 17.15

c.  
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d.  
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e.  r = 5.24 + 1.31459(17.15 – 5.24) = 20.8969

f. 
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